1. REEERI TN (FHSFT11R D)

xtbAE | XtRs xS AEH &8 (M)
11H4H Tt [FERERADFLE 4,000
11H6H =8 |RER HIEEZBLREOH(ZE) 8,000
1MRA7H =8 |WAETIREREOR(ZE) 3,000
11H9H =E | REDPHIDRRZEFEDHR(ZE) 5,000
11H108 B |NRMREE FE-SHIROF(HE) 16,500
118178 Tt (TP DEBEREAEDIT (FFEM) 2,700
11H23H B |NMREE FE-SHIRAOF(FH) 5,000
11HB248 =8 | PHSFEERBEKAFRRNRESER RILFEOIN(RE) 5,000
11H25H =8  |PHSEERHERERSHME BHEEDOH(ZE) 6,000
11A25H =8  |EVIVERIISEBREKREEEZERB O (ZE) 5,700
11H26H =8  |EVIVERIIVSEBREREEDBRZDOI(ZE) 12,000
a &t 72,900




2. % H(PHSFE)

RS | HB(HAD) | R | ERERY) | REHE
= B 7 22 44,700 124,700
B0 0 13 0| 117,250
B R 2 22 21,500| 219,190
R & LV 0 0 0 0
% B & 0 1 0 5,000
- O 0 7 0| 61,600
z O 2 30 6,700 309,115
& 3 11 95 72,900 | 836,855




